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1. List what the bottom most point of each graph is (referred to as vertex).  

A: _______

B: ________
 C: ________    

D: ________

2. What happens to the graph if “k” is negative? ________________________________________

3. What happens to the graph if “k” is positive?  ________________________________________

4. In
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, what does the “k” do to the parent graph?  

5. Without graphing, explain how 
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 would change if 
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 is graphed. 
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6. List what the bottom most point of each graph is (referred to as vertex).  

A: _______

B: ________
  C: ________      

D: ________

7. What happens to the graph if “h” is negative? ________________________________________

8. What happens to the graph if “h” is positive?  ________________________________________

9. In 
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, what does the “h” do to the parent graph?     

10. Without graphing, explain how 
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 would change if 
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 is graphed?  
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11. What happens to the graph if “a” is negative? __________________________________________
12.  What happens to the graph if “a” is positive? __________________________________________
13. What happens to the graph when 
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 (Hint: think about what absolute value means – referring to graphs A and C) ___________________________________________
14. What happens to the graph when
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(Referring to graphs B and D) ___________________________________________
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